27.11.18

Due in 03.11.18

Maths Home Learning

(Partitioning)

Use the partitioning method to add these number sentences.

1. If John has 158 toy cars and Tom has 278 toy cars. How many toy cars do they have altogether?

2. One farmer has 336 lambs and another has 287. Then one farmer sells 38 of them, how many lambs are there altogether now? 
3. A grocer sold 127 bags of sweets on Monday and 335 bags on Tuesday. How many did they sell in those two days? 

He had 650 bags of sweets at the start of the week, how many does he have left? 
4. An orchard contains 1225 apple trees and 3119 pear trees. How many trees are in the orchard? 

Unfortunately, 145 trees die in the harsh winter. How many trees does he have left? 

5. A man blew up 237 balloons.  His friend Jay blew up 359 balloons and Robert blew up 416. 179 balloons deflated overnight, how many balloons were left for the party? 

Make up two addition word problems of your own.  You will be giving these to a friend to complete next lesson.
1.

2.

